S = H BB 8 E E 5 & 2023FEAHBE wm & 022FEARBER
e -2 F B[ 5 [m B - 2R (BS - 5E) - [ L ® | & f e e BT & | #
x 2 |t IR EER e aornEn wW (SRR R D | B A7 |conene: enen|fi| B 2
Sk (FX-23—-2) g |Bk| X | & &z FESRM - Tt INRN (FH - KR - B Ilj wmE | 8 & x 3:_{71] BEE), 5B ZoM =0 = F
OR| B | E |BE (EHEFRE) - Z0ft B X 8 B * |®8 ) ' e B X
X —EEXit 5 T L A - /NGRS (800°F 9.1 TN —v—b—BER| 1 1] 1.0
o ) —iER 5 - 6043) - B (HEE2%, U1 910 | 9.16 | 11.18 | B SAE-HIERT, /D 1 1] 1.0
@ MEKAOAR #5155 0.7 M0, BRSO, #H100
BRRAMAZE (RF) 5 e
G BRI F R 9.19 - oy
*T Ky yaveyy— = BR[| X | X _ _ v 1101 L1042 1118 (15?3923%43*“2;;@
T61.(078) 591-5229 HE-REHE 5 9.2 FURE (bR) ~#A%EsE | 17| 17 1.0
T651-1111 Skt -ZR-VHEE| b U, BUEBITTE 3 3| 1.0
AR s iR LT 7- 32.20
e | 34 | 3.0 | 3.23
2.27




